
2023

4th Semester Examination

CHEMISTRY (Honours)

Paper : C 10-T

(Organic Chemistry-IV)

ICBCSI

Time : Two Hours

The figures in the margin indicate full marks.

Candidates are required to give their amswers

in their own words as far as practicable.

Group - A

Answer anyfwe questions :

1. Explain the following :

(i) Ethylene fails to show any IR signals around

1600 cm-1.

(ii) Can DrO be used as a solvent in IH-NMR

studies?

2. Write a note on symmetry restriction in electronic

tansition.

Total Pages : 6
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(a) Predict the major Product onlY

mechanism to show their formation.

Cl-*-COMe

(6)
write

2x4

HCI----*---+
A

i)KCN/EtoH/A

CH3ONa
Gr (Y

\,\

*hy?

cH3oH

o) Which member of the following pair will undergo

Dienone-Phenol rearrangement more rapidly and

Or,

Br

.\(u)v
Noz

J(iii)G*r---p+


